


Beds are for sleeping, Prohibit more than

not for jumping one person on bed

IMPORTANT

YEARS

Use only maftresses Bed parts have 2 years

with thickness of 8-12 cm warranty in normal use

Wooden parfs should be cleaned with a dry cloth and ordinary
mild defergenfs for the care and cleaning of wooden parts




X2
X2
X2
X3
xL
x12-x16
Xl
x10
X6
x12
x20
X24-32

(Vo]
=
Ll 9 x U v n — %
NI o
= 282 s 8-
-
(.
=
4 4
K8 M8x35
y )
W25  MLX25

W30 M4X30
MMM

S50 M6X50
(0 T

S60 M6X60
O=)




K8 MB8x35

Q )




S50 M6X50

(0




S50 M6XS0
(0 T




w30 MLX30
Emmms

W25 MELX25

SCREWS FOR ASSEMBLY ELEMENT




mportant!

asfic caps

nstall the pl

_|
V)]
a
i —
——
(-
—
—
i
=
@)
V9]
V9
(]
a
—
()
G
a
M

spring slats to the bed frame.

6




X1
X1

X1

BR
BRP

BARRIER

A

7

& o
B a4

B
B

BRL

BARRIER

SCREWS

S60
S50
W25

X2
Xl
Xk

S50 M6X50
(0 ST

W25 MLX25
IS

S60  MbX60

O==)




UNSCREW

UNSCREW

@ IMPORTANT
-\\@

09X9W  09S

=




S50 M6X50
@!@g@g@g@g

BRP

W25  MLX2S




T0 ASSEMBLY SECOND BARRIER FOLLOW PAGE 9 AND 10

10




	dce58cdf79b397aa50173298934a18517bc0fbf74f9ad5010c2b40fb00b0944c.pdf
	0cb4f53745d2cf5003a24769a9e9d944ae80225536fcadac908be23511639c80.pdf
	dce58cdf79b397aa50173298934a18517bc0fbf74f9ad5010c2b40fb00b0944c.pdf

